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Seetion A (One Word)

Answer all guestions.

Each question carries 1 mark. ——

In white light, thin films appear coloured due to
LASER is the acronym for

In a ruby laser —— ions is responsible for lnsing action.

When reflected from a transparent medium, the angle of incidence for which the reflected light is
completely polarized is called 1 |

In & double refracting crystal the ray which obeys the laws of refraction is called
An amplifier with positive feedback is used in

The power gain of a common emitter transistor amplifier is the produoct of voltage gain and

When the output of a NAND gate iz connected to the input of a NOT gate it works as a
gate,

In Fraunhofer diffraction the souree and the sereen are effectively at
ohject causing the diffraction,

distance from the

(10'= 1= 10 marks)
Section B (Short Answer Questions)

Answer all questions.

Each question carries 2 marks,
What is Barkhausen criterion for oscillations ?
Dufine transistor o and [
Explain why very thin films appear black in reflected light.
Briefly explain the transmission and reception of signals in radie broadeasting.
Write the conditions for constructive and destructive intorferonces.
n'ﬁl:i?n an expression for the dispersive power of & grating.

Compare be -AM FM modulntion.
twitn nnd or i 2w Tk
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pitt's oscillator:

and Fraunhofer Diffraction. ..

Biiefly explain the working of a Col
(2 x

Distinguish botween Frosnel Diffraction

Section D (Problems)

Ansier any three questions
Each question carries 4 marks.

4 o liquid between th
- ; length 600 nm with a liqui en the
Newton's rings are formed in reflected light of wavels i S
nnﬂtl the curved surface. If the diameter of the Eth l:fnght ring is ?‘-1 I:m and radi Tve
the curved surface is 1 m, calculate the refractive index of the liquid.

: d the diff oA
A plane wave front of light of wavelength 500 nm falls‘on an aperturé ant B0 S CvE A
18 upi:sm-mr{d in an eye picce at a distance of 1m from the aperture. Find the radius of the 100th}

period element and the area of the half period zone.

95  Find the thickness of a (a) quarter wave plate ; (b) half wave plate when light of waveleng

589 nm is used (i, = 1.55 and pp = 1.54) . e
The base current of a transistor is 105 pA and collector current is 2.05 mA. Determine the vali
f, Iy and a. A change of 27 pA in the base current produced a change of 0.65 mA in the colle
current. Find §_ .

In Fraunhofer diffraction due to a narrow slit a screen is placed 2 m. away from the lens
the pattern. If the slit width is 0.2 mm. and the first minima lie 5 mm. on either side of the et
maximum, find the wavelength of light. i e

(3 x4=121
Section E (Essays)

Hﬂ-ﬁﬂlff' any two qmtmm__

Each question carries 10 marks. A
With the help of a cireuit diagram px - 2
| ‘Eram explain the principle ang i wave anit Bl
rectifer. Show that the roctification oficiency of full wave s tige g o e
Derive an expression for the radiug of the bith ek o3 of a half wave
reflected system. Deseribe an experiment o de ﬂm iﬂ““““’hﬂn’.’u_ﬂh:‘
using Newton's rings arcangemen; termine the wavelength of mone

A 5 Y=
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